Friday, April 20, 2018 A

EE 382 Applied EM Quiz #7 (Spring 2018)
Name /( ey

Instructions: Open book. Place answers in indicated spaces and show all work for &redit.

A uniform plane wave, oscillating at 440 MHz, is propagating through air when it encounters a glass
window (. = 1, and &, = 8) at normal incidence. Find the intrinsic impedance of the air & glass, reflection
coefficient, transmission coefficient, and standing wave ratio in the air.
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Friday, April 20, 2018 B

EE 382 Applied EM Quiz #7 (Spring 2018)

Name /Z-‘i v K

Instructions: Open book. Place answers in indicated spaces and show all wofk for credit.

A uniform plane wave, oscillating at 640 MHz, is propagating through air when it encounters a glass
window (u, = 1, and &, = 6) at normal incidence. Find the intrinsic impedance of the air & glass, reflection
coefficient, transmission coefficient, and standing wave ratio in the air.
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